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Question Number : 1 Question Id : 8135612081 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Kelps are formed by

S 95;};} DRI :Jd:] GO

Options :
Chara

| x 5O

Ectocarpus

QgE"Cﬁ:’E}

2. %

Porphyra

3 % D00
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Fucus

we TR

Question Number : 2 Question Id : 8135612082 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the following

a. Polychasial cyme 1. Ipomea
b. Solitary cyme i1. Datura
¢. Monochasial cyme i11. Nerium
d. Dichasial cyme 1v. Solanum

SoBT D 2SHGTIAD

3. BITFUT RO D3\So i. 29 doadr

b. Dz anejc 11, S8 r6

c. dgTHaH IR\ iii. Ddade

d. BFDOH DI Po iv. TR
Options:

Cx @@—1), (b—ib), (c—iii), (d—iv)
, o (@—iiD), (b—ii), (c—iv), (d—1)
L x (@a—iD), (b—iii), (c—iv), (d—1)

4 % (@—iii), (b—ii), (¢—1), (d—iv)
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Question Number : 3 Question Id : 8135612083 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Mesogamy is the entry of pollen tube into the ovule through

L063] AT Ko BT DT TFo D& Aot Boktsw &° HHIotodd

Options:
Nucellus

1| % ©otrod0 S8 2PVo

Integuments

> ol SO0

Micropyle

eols m&dma
3. %

Chalaza

4w WOF

Question Number : 4 Question Id : 8135612084 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The enzyme responsible for carbon fixation i C4 plants 1s

C4 205 08" 56D g"::n:ba: 29506500 900X Do

Options :
PEP carboxylase

1 PEP 50’“&%35&.5;
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RUBISCO
d:ei}ﬁ“b

2. %

Aldolase
ugﬁé

3. %

ATP ase
4 % ATP clod

Question Number : 5 Question Id : 8135612085 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Gymmnosperms lack which of the following?

208 705" DHyS Dazren DD A God?

Options :
Sieve tubes

- TOD TEYRe

Tracheids
SoRTob

2. % 5=

Sieve cells

3 % orOR) SEFeD

Albuminous cells

E:Je.ua:brﬁi:: TePReL)
4, %
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Question Number : 6 Question Id : 8135612086 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Classification of Virus is done by

20D O bﬁédﬁa W30

Options :
1. % IBTV

5 % ICBN
3 ¢ ICTV

4 % ICZN

Question Number : 7 Question Id : 8135612087 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The taxonomical aid used for identification of organisms based both sumilarities and
differences is

2DV DG &R TDsgen ;5?5@“5{5“9) sl T8 (B0 & GG ;bcg'édsa

Options :
Herbarinm

Ho ko aﬁoﬁa&a
1. %

Key

2.v 8
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Museum
méiboﬁjﬁa
F

Flora

Do

4. % ®

Question Number : 8 Question Id : 8135612088 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following chemical serves as an anti-transpirant in plants?

DOS" D I anIB0 G S° T EE IFELANT HABANR?

Options :
Cobalt chloride
Sere E06

Dimethyl mercury
& DPS 206,06

Potassium Iodide
TerDoIND WArad

Phenyl mercuric acetate

D05 mdr;jéﬁsé e9DE385

Question Number : 9 Question Id : 8135612089 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Choose the incorrect pair of movements

STreres” 28 oD 2 IS amﬁ ol

Options :
Dittusion- Short
 Dbea- T8
1. ® =

Translation- Bulk
, DRATOO0- TP VDI

Apoplast- living components

e - 23 esdnoesTen
3. v °°

Root pressure- small heights
| DO DEDAD- S D Joe
4. % =

Question Number : 10 Question Id : 8135612090 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Inserfional mnactivation of a gene helps

2R TG, BONGHS DEIND &AM o

Options :
Identification of nonrecombinant colonies with white color
. DD Gores” &R DEHFBAD S TV VR Yo
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Identification of recombinant colonies of white color
B Gorires” c.—“;qé‘l DOH0S 0 0 (DB otieID

Identification of recombinant colonies with blue color
- QLo Gohes’ D) DOJBS 57O VA (BT

Identification of nonrecombinant colonies with black color
. PO ComES” &d) DEIBBAN T TV Pt

Question Number : 11 Question Id : 8135612091 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following is incorrect regarding Bt?

Bt & Dotiofot) 0BTV L0 IS D&?
Options:
The toxin 1s coded by ‘cry’ gene

. Ba‘q:::am“gc cry’ 20§08 ATFDoLLCIE
1.

Toxin proteins exists as protoxins
- DaRFOS T DHDETTV POG T Gocdd

Toxins are msect group specific

| dpoge 268 DICDTPOL DIQDDE
3. -

Inactive toxin is converted into active form due to acidic pH of gut of msect

4o d0Eaw aws) ST vawe’ e pH S0 Soirdard ﬂaaa“g“w SODDBANT PG
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Question Number : 12 Question Id : 8135612092 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In flowering plants. a mature female Gametophyte is derived from “Megaspore

mother cell” by

2pyoid JEE’ e G D ArBySt0 ok D DFD HY B Dodird
DREBAD 0D3)B Bot?
Options :

One meiotic division and three mitotic division
28), L0550 25225 208030 HATPED DS DFRHeD

Three meiotic divisions
SATED 000800 DFRHeD

One meiotic division and two mitotic division

3 % W8], 0505083 D2 2000 Todd DA DFHL

One meiotic division and one mitotic division
28), L0580 D25 Sodain 2.8), P DTS2

Question Number : 13 Question Id : 8135612093 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Haplo-diplontic life cycle 1s seen in

DS cﬁstﬁ: f‘g@ﬁ 20 DE0A) WIINHHE
Options :
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Laminaria

S b Talouty

Polysiphonia

5 % T2 dasr

Volvox

a“wvség

Fucus

;;:_30555

Question Number : 14 Question Id : 8135612094 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Vivipary in mangrove plants is a strategy to

A9 4rd 2wg o’ DFB (Wer\6e) B3 D (180 e00Dod JF{iraw

Options :
Ensure successiul establishment

2ODNGADL T gvﬂ:m‘.ﬁmm@s; Dewrr
1.¢

Drought escaping

awe;rﬂ;s“ﬁ;l JJC&JS"EJ;&::.{;&)SJ
2. %

Salt tolerant
. SEG-IE EURL TIMSPRIIARER
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Fruit set
. DA RRC DL GG &

Question Number : 15 Question Id : 8135612095 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The fhudity of membranes in a plant in cold weather may be maintained by

208 S B0 TT D0’ BT G680 B &0 AOLETPosecd?

Options:
Increasing the number of phospholipids with unsaturated hydrocarbon tails
6oy PE 56\ S8 DHMBOD) TG Dosy

Increasing the proportion of integral proteins
D38 DEABOD) VoSS Fedao

Increasing concentrations of cholesterol in membrane
@5{50956 elebgtlz VIV E’ﬁ@“ﬁ Treieten

Increasing number of phospholipids with saturated hydrocarbon tails
RodyD IrE 576D SEuE DAMDSD) IV Dog Doay

Question Number : 16 Question Id : 8135612096 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Assertion (A): In Nepenthes leaves are modified to trap insects

Reason (R): Insects serve as nitrogen supplements

:)-;'aaam (A) : DDoBDS’ 2050 L0AotILIL) HIren Graroddo BodoaD
SP60aw (R): S50 3520 96e0m HABAER

Options:
Both A & R are true but R 1s not the correct explanation of A
. A 28050 R’ Bolr ©8 0ndd. 50 R’ 956 ‘A’ £ 98 ©ond ddden S

Both A & R are true and R 1s the correct explanation of A
‘A’ 208010 R’ Godior 28 900D, R’ 938 ‘A’ €5 28 9000 DD660.

A 15 true R 1s false
3 % A D0 0N, 'R D0 90088 5.

A is false R is true

4 % A R0 B0JG 57, R R0 0.

Question Number : 17 Question Id : 8135612097 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

DNA 1s a better genetic material than RNA because of

RNA g0t DNA Hoow) a&sﬁo?s :Jm“g;m eHADEIE) (o) SO0

Options :
Presence of Thymine
v BAS ot dVD
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DNA mutates faster
DNA 3dsoom %@D&;ﬁgéo WoGiA)

DNA is more catalytic

. DNA 8988201 ed)dsd0
3. & =

DNA 15 labile
. DNA 2002320 DA &9

Question Number : 18 Question Id : 8135612098 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Female reproductive structure of chara is
5oo° &5° BB JT7) £

Options :
Gynoecium
| % ©WolkERHAL

Carpel
. DOGFEAD

Nucule

3. o TGS

Archegonium

es&zjf‘fi}od:o
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Question Number : 19 Question Id : 8135612099 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The term ‘polyadelphous’ is related to which among the following?

EIETVRIOGE’ Do S08 TS’ BIS DotioBoHA?

Options :
Gynoecitun
. oS0

Androecium
-
v TS50

Corolla
eSS0 DTV
@ o

Calyx

4 % CLS DT HY

Question Number : 20 Question Id : 8135612100 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following 1s the correct pair for edible plant?

ARAGHD 2E) L VotroBot) $oBT™VS” D 2 VB LAVIH?

Options:
Tomato -thalamus
, O8TEr- HANOJ0
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Maize- cotyledons
, 208 ED)- DaoweeD

Guava- meso carp

230~ ;53:;31(] D 5%
3 %

Date palm- mesocarp

4o a;g:vcﬁo- ;fuc.ﬁ?g DO SIIo

Question Number : 21 Question Id : 8135612101 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a DNA recombinant the vehicle DNA is

DNFHodEres DNA &° oodirg DNA

Options :
DNA which is transferred mto the host

. & DNA 0380w6°08 6d Sabecdiesd

DNA which is present in the host

, « & DNA 0380208" &otwod

DNA which i1s combined with the passenger DNA
, v & DNASUg DNA & €02 &otnod

DNA which 1s combined with the host DNA

4w & DNA 93800 DNA & €92 &otod
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Question Number : 22 Question Id : 8135612102 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Sucrose formation from CO; & H>O in mesophyll 1s

DBo8608" CO, 208ah H,0 o REH et9) Soaby Sap

Options:
Catabolic
L DDy o

Anabolic

Dm&m S0
2. ¥

Amphibolic
“ 502385 OS5 Do

Glycolytic
AS'oes

4.8 <

Question Number : 23 Question Id : 8135612103 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Zn is essentially for

205 B3 E;ﬁ%‘éo?

Options :
Synthesis of fat

_— 5’;:)_‘)5 RoBLIL
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Synthesis of auxins
> Hé{ﬁ) VoI

Synthesis of proteins

L« TO RoFRD

Oxidation of carbohydrates

Dol HTTw es%édeaﬁs
4. % @

Question Number : 24 Question Id : 8135612104 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Trichoderma fungus acts as

osao) 2900 28

Options:
Biofertilizer
£ DD

Bioremediation agent
£S5 oo 53820

Biopesticide
£ 308 o850

Biocontrol agent
235 Jdobodes=d
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Question Number : 25 Question Id : 8135612105 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following bryophytes is used as a fuel?

& Sod TS D LGP QoSN GHEITAIEL?

Options :
Funaria

Qr§dB0s

1. #

Marchantia

- wmzjgom

Sphagnum

v > ;}ﬁi&

Anthoceros

4% 908 B0°D

Question Number : 26 Question Id : 8135612106 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following with respect to substrate level phosphorylation and corresponding

AP EAMCET 2020

substrate that 1s essential for the production of ATP

Substrate

Product

a. 1.3 Bis phosphoglyceric Acid

1. Pyruvate

b. Phosphor Enol Pyruvate

1. Succinic Acid

¢. Succinyte CO-A

iil. 3-phosphoglyceric Acid

$oHT*IJ a&@ﬁdm;ﬁn.mﬁ‘ggﬂm F 0TS DS’ 9 0GR irdo &8y o

Vo gNIVE Sc:bmm?

@0 ao7do
e 0

e@balu

2. 1393 3008 sdsw

L P

b IV &6 eSS

i, 08,95 0w

E ‘r@éﬁé CO-A

i, 3- T\H008 es30i0

Options :
1 ¢ (a —iii). (b—1), (¢—ii)

o w @—D, (b—ii), (c—ii)
5 (@—iD), (=1, (c—iii

L w @D, b—iiD), (c—ii)

Question Number : 27 Question Id : 8135612107 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Phospholipoids with phosphorylated organic compound in plasma membrane is

ﬁ“é‘é Bqeiodd” (o Ty obosw FINBTOE 56)® DETen
> At &

Options :
Lecithin

| T263

Thymine
B

2. %

Lysine
5
5w S
Glycolipad
g dBE

4, % =

Question Number : 28 Question Id : 8135612108 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

One of the micro propagation methods to recover healthy plants from diseased plant, among
the following. 1s

S0’ Jﬁ@@% 2008 © &0 Uﬁﬁﬁébo@mwrﬁ 2008 O A6 Tod arg) ;.1"523
DErR8n ABoEAD.
Options:

Meristem culture

Kla;“aé S03270) SHBHSEAW
1.9 @
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Anther culture
Shore ;5255;&:13

Mutation breeding
&S3056R HEHAW

Root culture
Pale s ;ﬁgé;ﬁm

Question Number : 29 Question Id : 8135612109 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Axillary buds which forms branches or flowers are present n

TRV T PYIAHVIG BB A Aden fd

Options :
Lateral meristem

- if‘“ti% 3)&',‘5“3&5 gereo

Apical meristem

- &9y i)a_:sﬂa&é el BT

Cvlindrical meristem

ArISG 5)&,:“22.5 gm2reo
3.% @

Intercalary meristem

DGR DT S0
4. % 0 )

AP EAMCET 2020



AP EAMCET 2020

Question Number : 30 Question Id : 8135612110 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Number of structural genes in lac operon is

erS LT & Qo e d) & 20DV o)y

Options :

Question Number : 31 Question Id : 8135612111 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of glucose molecules required to produce 38ATP molecules under anaerobic
conditions by yeast cell is

&R & ool F(RELY” 38ATP o mwotl Ay BrER rHL) BBG0?

Options :
1, % 2

5 v 19
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25

Question Number : 32 Question Id : 8135612112 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Attraction of water molecules to polar surface called

935 eHdderws), D RIEAINVED ;.‘uc:.sig ER)) 850D DA0EE?

Options :
(Cohesion

1 % AoRIoBA

Adhesion

> IR0

Surface tension

e:be.ae:ééige:&
3. #

Capillary force
4% 578 oo

Question Number : 33 Question Id : 8135612113 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is incorrect with respect to virus?

208 T°° DEI £ VotroHow) VB 5°AA MBotiod..
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Options :
Obligate parasites
. WISV DO VPV

Both RNA & DNA
5  RNA 8cdin DNA

Non cellular

5 % SEOIS

Capsid protein coat

. TE T8 Scord

Question Number : 34 Question Id : 8135612114 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following

Plant Disease
a. Citrus 1. Bronzing
b. Legumes 11. Die-back
¢. Cauliflower 111. Mouse ear
d. Pecan 1v. Whip tail

SoAT VR 2EADCTIIS

2008, o750
a. HLS i. erozoh
b. Gririe . G-ers
c. 50056 iii. &9 w06
d. 25 iv. §6c &8 T8

Options :

;% @—1D, (b—ii), (c—iv), (d—ii)
, o @=iD), (b—1), (c—iv), (d—ii)

Ly (@—i), (b—1), (c—iii), (d—iv)

4w @—1D), (b—ii), (c—iiD), (d—iv)

Question Number : 35 Question Id : 8135612115 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Hidden hunger can be treated by which of the following?

ED00td) 3£ TO” dado BaSy.

Options :
Bioremediation

£)O3T° TaE oD

Biofortification
BIa3e ﬁgﬁ:éaﬁ&

Biotertilizer

g0 00526
3. % et

Bioactive molecules
25 SOIrd) S BEDYPLD

Question Number : 36 Question Id : 8135612116 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Bacteria responsible for Nitrification come under the following groups

& Sod Te3e5° D HIrHFen w%&oﬁr DAE G5 ol SHaTroridAd?

Options :
Coccus
1 % 5§83

3.¢
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Bacillus

a.rfagfa

Spirilla
4 % 2202

Question Number : 37 Question Id : 8135612117 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following:

a. Viroid 1. Pollution indicators

b. Prions i1. Detection of toxic pollutants
¢. Biosensors 1. Potato spindle tuber decease
d. Lichens 1v. Scrapie disease

SoBT AR BBDETAN:

a. Purané 1L STe0R) DS
b. 205Dy i, DR YOS STnr[RR0 AT
C. ORI iii. Jered oyoces ared (0
d. g5 v, e TG
Options :

| @—iid), (b—iv), (c—ii), (d—1)

) (@—ii), (b—iv), (c—1), (d—ii)
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3 % (a—1i), (b—ii), (c—iv), (d —iii)

(a—ii), (b—iii), (c—iv), (d—1)

4, %

Question Number : 38 Question Id : 8135612118 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The mnermost layer of the cortex is called

S OA S FEA & DE&E0T eI E:

Options :
Higher leaf area

VRS DY DTV

Lower rate of photorespiration
BEY) S TU0d ?5;:::5013 o]

Presence of thin cuticle
e0WD 9520 €0 Soktio

Presence of larger number of chloplasts m the leaf cells
DBSETFOS” QLD ﬁo&g@é 38 Braaen s%ﬁi Gokto.

Question Number : 39 Question Id : 8135612119 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The mnermost layer of the cortex is called

S0 G TSR0 & Do DeF=dd:

Options :
Epidermis
wfmézﬁdéan

Endodermis
wo@:ﬁﬁém

Pericycle
DBTISAD

Hypodermis
, VG:3N\0 %‘m}

Question Number : 40 Question Id : 8135612120 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The middle lamella of cell wall is mainly composed of

geasSudo CINE), H0EY HLdE HordAT A0 908 o

Options:
Pectin

EER

1. %

Calcinm Carbonate

s=Hadoe '5“6"[)):5&5
5% o
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Calcium Magnesium Pectate

s8odo mﬁiboﬁs& D85
3. g/ o %]

Lignin

. LIRS
Zoology

SectionId : 81356145
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions: Yes
Mark As Answered Required? : Yes

Question Number : 41 Question Id : 8135612121 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Stratification is well developed in

0D BodD VBLGR EIDo HBFo

Options:
Grass lands
R8I sa00e0
1. % &
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Temperate forests
RAIEY EH

Tropical rain forests
3 ¢ a&;moc:e_: DTT0 G

Alpine vegetation
. HEJ;FO s £R006

Question Number : 42 Question Id : 8135612122 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the correct matchings:

a) Sweat gland- eliminates wrea. lactic acid, NaCl
b) Sebaceous glands- Eliminate sterols, hydrocarbons and waxes through sebum.
¢) lungs- Remove large amounts of CO2 (18 litres/day) and sigmficant quantity of water

d) Liver— Elimmate degraded steroid hormones, vitamins and drugs.

20 29002 Bde) Hodiod.:

a) GG tocen ~ clurBalr, erdd eanaw, NaCl v Fohdron

b) 6O fochrn ~ HTBy, TPEFG B Pdaw O S EraaES” Fongron

¢) &ndaguen — wds Irerme’ COp (18 Dot/ Fe) aboty ik Sree Fohon

d) sdandn ~ Dedan 306 Jrrand FF e, DD bohy dodeo Fofdron

Options:
(a). (b) only
| x (@), (b) arpd

Only (b). (¢}
, w (0. (c) g
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Only (a). (c). (d)
3 % (a). (c). (d) Soreda

All (a), (b). (c). (d)
4 v (@ (). (). (d) )

Question Number : 43 Question Id : 8135612123 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statements:

a) Visceral organs located in the haemocoel are bathed n haemolymph

b) The haemolymph 1s composed of colorless plasma and haemocytes.

¢) The respiratory system consists of a network of trachea. that open through 10 pairs of
small holes called spiracles

d) Heart of cockroach consists of elongated muscular tube lying along mid ventral line of
thorax and abdomen.

0BT’ 1B LoD DDA MBotdod:
) oo WAOLITU 6% §i30Re8" Aod. &) 63 LIPEAVS’ Gotrow
b) 65 §436%%0 B0 36 6ipd ) 20BAtH FATPE) Gotron
¢) TGOS Dot Taky YR a8 o0 288 $80 wrer S0 6yC 10 ade OD)
TR GoTre (T 20HOS SASEr0)
d) €G08 ot FyesNSw Tekert), Sodoraid, RoSesse) THw. @l S5, &6
o maﬁoﬁmm}m Gotol
Options :

Only (a). (b). (c)
(a). (b). (c) 2780

1. %
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Only (d)
5w (d) g

Only (c). (d)
3w (). (d) Srgd

All (a). (b). (¢). (d)
4.+ (a). (b). (¢). (d) F.‘J.E);L

Question Number : 44 Question Id : 8135612124 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Asthma 1s caused due to

e3R8 oDVR S I

Options :
Infection of streptococcus pnenmonia

ggﬁg“gﬁ AR Dair Dogioe SO

Inflammation of bronchi and bronchioles

DT Vo, FTCRATVS0S” T DG\ HUD
, ¢ TIORo, TIRT IS0 I3 A,

Alveolar walls are damaged

TS F Hcten FBLAD €9 CeD HDVD

Nomne of these options are correct

D 2T WOAAS T
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Question Number : 45 Question Id : 8135612125 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is a wrong example for the given type of egg?

808 37" (ES” Td HBoD B2y EETErcn DB?

Options:
Moderately telolecithal — Frog’s egg

;ﬁ.}qﬁ?g;jnr‘r“ 565’ TG — Sy MG

Alecithal — Mammalian egg

TGS — 26D A

Megalecithal and telolecithal — Burd's egg

 Domraacse) Sdoiy e TG — HE (e

Microlecithal — Reptilian egg

DETHES — DBDIW A

Question Number : 46 Question Id : 8135612126 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the type of ring worm with the organ affected.

Column-1 Column-2
a. Tinea corporis p. The groin
b. Tinea capitis q. The scalp
¢. Tinea pedis r. The feet
d. Tinea cruris s. Sk on the body

DDA 29 TR 2 HETLHAW:

0H-1 0H-2
(5] &
a. Dk 5070 p. 02
b. Sosr sHLD q. ISy
c. &dair HaD . DA
d. &Dodr &reD 5. THG) 8

Options:
1% (a—s), (b—r), (c— q), (d—p)

2. ® (a_p)r (b_fﬂ', (C—I‘): {d—g}
3. ¢ (a—s), (b—q), (c—1), (d—p)
4 x @=a), (b=s), (c—1), (d—p)
Question Number : 47 Question Id : 8135612127 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Frogs only breathe through lungs when necessary. Because

5220 B306000DDYE AR &8V BR(T° TR S0 26HR

Options :
They have immovable diaphragm.

| » SGOI DB DLOIW

They lack a diaphragm to help regulate the pressure in their lungs

5 o VTR DOOIW 5" 206800 0D E2BAGIDES’ (L HEHAD oDoBoRD

They have Gills for respiration.

- Q00D ?"5‘.5350:&366 EDAT RN

They have moist skin for respiration

4 % S0 oo tﬁﬁé:ﬁw TR SOHL EDHAITADEIAD

Question Number : 48 Question Id : 8135612128 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following epithelium found in the walls of blood vessels and air sacs of lungs

and are mvolved in functions like formimng a diffusion boundary?

306 TIS" D 68200 EHSY 5T Ven DB Tk EFTVE” Godt, T DI
Soth s piaed” Séytaran?
Options :

Cuboidal epithelium

1 % TS0 &DsSY
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Colummar epithelium

Vo500 &DSY

Squamous epithelinm
IO 0 GO
3. ¢

Ciliated epithelium
, B0svab edsv

Question Number : 49 Question Id : 8135612129 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the correct matching(s) related Malaria parasite and 1ts life cycle:

a) Hepatic schizogony- Shortt and Garnham
b) Erythrocytic cycle ~Camillo Golgi
¢) G B Grassi- Pvivax life cycle

d) Sir Patrick Manson-Filarial worm in culex

S olovhy i}U".{lleEQ 208050 T8 Bl WAL Rotofow) RO 2¢ DEBLEIB(D):

2) SO p&A- Irf Mook mhy H

b) og ¢ tgaw - s’ md

¢) GB TR~ &, 278, 4D tgdw

d) %6 T8 203D -85y B’ pdair Db £DS BgA
Options :

Only (a)
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Both (a) and (b)
5 % (a) S0dasw (b)

Only (b)
3 % (b) gl

(a). (b). (¢) and (d)

4 (a). (b). (c) S06as (d)

Question Number : 50 Question Id : 8135612130 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is a Metatherian mammals?

20O 3e5° DerHB0IT £6¢0 MBotirAW.

Options:
Kangaroo

1 ¢ SolTarr

Echidna
aéc?;l

Shrew

3 % &

Pangolin

Fofi S
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Question Number : 51 Question Id : 8135612131 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Identify the wrong matching:

a) Goblet cells - Unicellular glands that produce enzymes
b) Salivary gland - Mult: cellular gland
¢) Exocrine glands - secrete mucus, saliva, earwax, oil, milk, digestive enzymes

d) Tight junctions in epithelium - help to stop substances from leaking across a tissue

ST &0 DOSEAE Miodol:

a) T Srren - DS 86 (ocen DBAV &G dFan

b) ererae docen - £3a 46 (Jocoen

¢) AT (oren - AFEY, TURVAD, B D, BOd, e, 20N JBAVO FDF0D

d) &0t Snmroan Som fie D Dogen - @d 3006 Goren oz AFAFon
Options :

1.« 8

Question Number : 52 Question Id : 8135612132 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify incorrectly matched scientist and their work:

1) Term biotechnology — Karl Ereky

2) Plasmid was discovered by — Lederberg and Hayes

3) Ligases discovered by — Mertz and Davis

4) DNA finger printing — French Anderson

5) Tissue culture — Haberlandt

6) Somatic gene therapy (SCID) — Alec Jeffrey and Laljit Singh

20875 TRDS 03D DY BeS BT 23 BIDD DBocdod:
1) 25¥c8BEA0 — 576 HBE
2) FRYE ~ Tod B H0dakn TP
3) Bn - 20§ 200akw EAD
4) DNA 0616 2o830f — 2o 9066yD
5) Sy ;ﬁg:ﬁ;im — P00k

6) 8D D008 T(B DT SE S HAD — 9Ts 2D SdoIN wgé 2o

ot

Options:
1.% 1.2&3

, v 4&6

5 x 5&6

4% 3,4&S5

Question Number : 53 Question Id : 8135612133 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Bt- Cotton 1s resistant to

Bt-28 $0b 76" 88 TGS sHA Gocodn?

Options :
Boll worm

- e5°eS 6,

Pin worm

s ;f&é

Round worm

 Got :.PEQ]}
3_ W

Fluke worm

4% QS J"ﬁé

Question Number : 54 Question Id : 8135612134 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Nervous tissues are derived from

“TE EnEreo” 8 Dotd(Ho AWot) DB EBE?

Options :
Mesoderm

1% ;ﬁxﬁiggﬁr:jo

Endoderm

o e9o 9‘_"}‘{\_35&‘3::—
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Ectoderm

- E-J“ﬁ“é@&ﬂ')o

None of these options are correct

4 % D 2T POADAG B

Question Number : 55 Question Id : 8135612135 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Which one of the following 1s a matching pair?

a) Lubb — sharp closure of AV valves at the beginning of ventricular systole

b) Dup - sudden opening of semilunar valves at the beginning of ventricular diastole

¢) Pulsation of the radial artery — valves in the Arteries

d) Intiation of the heart beat — Purkinge fibres

300 65" 26 00D 26 O 7

a) B - 80b%e oSN P’ 5550 wedE Sortren aasbi)vanu s T e
b) € - 26850 TS Ean HREDAES’ Bf Sors Sartren w8 Fir BhmED e
¢) Gavarete Sartren 30 3| - MV’ DT

d) D802 SosDeD — IFHBOD Vy0dR Jroodran

Options:
1.¢ 8

4 % d
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Question Number : 56 Question Id : 8135612136 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the male sterility is due to azoospermia which method of assisted conception can be
suggested to couple?

200T°6e° SLAG bdgémanw Fab S0P and 2 DG (16y5°00 )
“&J‘ﬁotﬁ;f}r.ﬁ)b?

Options :
IVF & ET

%84 eTay HedEdeo, D0CT BN,
1. #

AT Donor
5 @ S50 BUE DDNEIAD

AT Homologous

3 % Rofied S38300 FOE DDAEDD

GIFT
, x TEDALS TES6 Rocur Dz 06D

Question Number : 57 Question Id : 8135612137 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the incorrectly matched hormone and its functions:
a) Prolactin — Stimulates formation of milk m the mammary gland.

b) Thyrod stimulating hormone (TSH) — Stimulates the synthesis and seeretion of thyroid
hormone from thyroid gland

¢) Adrenocorticotrophic hormone (ACTH) — Stimulates the synthesis and secretion of hormones
from adrenal medulla

d) Melanocyte stimulating hormone (MSH) — Acts on the melanocyte (melanin contamning cell).
Regulates the pigmentation of the skin

& 806 Ejf'ﬁlmm D0’ 20 50 282 ool
a) Tersd — yod’ 26 fohod® §88ya8 Syodued

b) Brrand 9os FHLd — @orand (08 Blnod Frrand HFEYO Vo, DGV

EDOTDCB000
¢) HIHE D5 YD ~ wBE), GBI B HEOM DOV FeyHRd
d) eSPS 9% DEY — DOTOR HAPIAD AP SELD Gorb) DoDoGRod

Options:

1.% @

2. %

LE]

3.¢

4. %

Question Number : 58 Question Id : 8135612138 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Female AaBb 1s crossed with male AAbb. The gametes shall be

AaBb o 2.8 5:) AADD 6 28 DG 52 Lowd LI VN3N

Options :

Female Aa. Ab and Male Ab

3 Aa, Ab 2080 A Ab
1. % =

Female AB. ab. aB. Ab and Male Ab

5 AB, ab. aB, Ab s08ai A Ab
2.¥ 2

Female Aa. Bb. ab. AB and Male Ab

- % Aa, Bb. ab, AB 508030 indod Ab

Female AB. ab. Ab. aB and Male AA. bb

. &AB, ab, Ab, aB 08ain i AA, bb

Question Number : 59 Question Id : 8135612139 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Out of a population of 800 individuals in F2 generation of cross between yellow round and
green wrinkled pea plants. what would be number of yellow and wrinkled seed?

D02 Dby, (06 Aozed SHAD Bt 008 VL LD, JES Aozew $BAD LR
208 OF Hog6mA0 28T F2 S650% DoBS 800 208,00 D6ESD. DB’ By
iy 0Bk Hwcd 50/ DT (Hozen) ﬁ)dﬁé Roa(?

Options :
1. % 400

5> % 800
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3 % 200

4 v 150

Question Number : 60 Question Id : 8135612140 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Largest ecosystem of the world is

Do AV BI"DCE S5V

Options :
Oceans
v abre e e bbind b

Forests
9 % VWD

Grass lands
ﬁ%a‘,ﬁr;ﬁnm

Lakes
‘S:ud*r’mhm

Question Number : 61 Question Id : 8135612141 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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“Lucy” 1s the fossil of

eu:gf‘o B Ferae?
Options :

Homo erectus

e et L (o 155
1. W 5]

Homosapiens

5 % e s 7:.1:.::1:::.13.53::J

Australopithecus

e5%265° HAED
3.¢v 2

Cro-magnon man

4w §-26) D

Question Number : 62 Question Id : 8135612142 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Widal Test i1s a confirmation test for

DES DOL D TB DTG &DHATHIE?

Options :
Pneumonia
) aJTSI:J":JG‘.’)J"
’|_ W

Typhoid

2. ¢ Bront
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Jaundice
:Jr:.ﬁt}'s“ 206
M (o ]

Epilepsy
m%ﬁ Yo

4, %

Question Number : 63 Question Id : 8135612143 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many different types of gametes can be produced by an organism of the genotype AaBBCc?

AaBBCc ogd( DU"&E‘Q&L‘:}J <A 2.8 &) Q:Ji gsrwon® S38mod dobrvdd

Options :

1.% 3

2. % 8

Question Number : 64 Question Id : 8135612144 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Bilateral symmetry metameric segmentation. eucoelom and open circulatory system
characterize which of the following phylum?

B0 T30, didoaoc: DTfo00, Aexdhs L6 2080%w0 Dy 68 oo Y
SHDEINE RN

Options :
Annelida
1 % 00

Mollusca

5 % :mu&b

Arthropoda
Lo PN N o
@

3. ¢

Echinodermata
4 % ras:is‘aaée:v

Question Number : 65 Question Id : 8135612145 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the incorrect matching:
ST RADBVIE OBotdol::
Options:

Thecodont- Each tooth embedded in a socket of jaw bone.

| w (1G5 DOS GoBIW BIE DAWE CIE), Mot e, Sotow
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Diphyodont: Presence of two sets of teeth in their life time
BLDL6 God- £ D BDBHS” TotOIEIGETTLD EGNIIF 0D

Heterodont: teeth are of unequal shape and size

3 % D2 Gofre) — GofPL) AT e5TEAY 800 HBATHRAL £9A Sotro

Dental formula-Arrangement of teeth in each half of the upper and lower jaw in
the order M. PM, M, C. 1

4 God ATHan — DO AIE PLVETPAANS” Goi Koy @008 M, PM, M, C, |

Question Number : 66 Question Id : 8135612146 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following has the maximum genetic diversity in India?

&80 5°0¢5° B G5B’ (0 230 Q?Jcs?go s%a:’méguﬁ?

Options :
Teak
1.v O

Tea

2.33&5

Wheat

L x B

Mango
4 % STDG
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Question Number : 67 Question Id : 8135612147 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the incorrect statements among the following:
1. Homeostasis ensures constant osmotic concentration of cells.
i1. The famous keolado National Park (Bharatpur) mn Rajasthan hosts thousands of migratory
birds coming from Siberia. in every winter.
1. 99% of animals and nearly all plants are regulators
iv. The conformers are able to maintain their body temperature mspite of changes in ambient

emperame,

306T7E" O PIDTOR HBoAD:

i, SEPoe’ DO0NN GIDICH TPES S0 G FAPPHD Botrd

i, 06 DodByGaw JSwANE’ DByaIr Mod £ D0 HHew TaF &) dareddr

@aom &) (08 QP6) SO SR SFow.

fi. 997 @080)e0 BA WM ©82) 65°0 DKL) &x IOHOBES MDD

iv. drde Sthen H8T G160 0f dir ed'ism ardySd
Options :
(1) & (i1)

, s () & (i)

3 (111) & (1v)

4 % (1) & (iv)

Question Number : 68 Question Id : 8135612148 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the correct statement regarding hepatic or gastric caeca in cockroach

Eﬁﬂgaé Dot ST BT YL DL Votlofow N ONHE 1Botiok.

Options :
present at the junction of hind gut and midgut

OT(ZPETFI00 200N WoTRFSTEID S0 ot e’ Goton
1. %

secrete digestive juice

£6 6 3DIan
2. B =

removal of excretory products from haemolymph

- 2590 D0c® DdYS DETOR & 3TaTs bV

Helps i grinding' the food particles

. Trede :.’J::“g“ﬂ.:r.-‘{u DRSS eDErancIA

Question Number : 69 Question Id : 8135612149 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the incorrect matching:

a) Perttubular capillaries — The efferent arteriole emerging from the glomerulus forms a
tine capillary network around the renal tubule

b) vasa recta — A minute blood vessel network runs parallel to the Henle's loop forming a
“U" shaped structure

¢) Cortical nephrons— Vasa recta is absent ot highly reduced.

d) Blood filtered per minute—180 litres

$0BTAS" 1B 57 B HBorhdaAw:
a) DOTYS" 33T VT DL ~ 08 TYS DSy Kol AoYEA WDTF (IS dodt
2)8), TS AP A01GH VD) A 68 88 TP J

b) & Og - > ~g],500 & e5:808) VTSV U’ BEdany’ 6\Gd ©d D)

68 v v
¢) R Ard TS ~ TV OF §'0od) I 26300 &otod

d) X3 180 Borg G 3¢ Fadexd

Options:

1.% @

Question Number : 70 Question Id : 8135612150 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In Binomial nomenclature. the name of the author

BETPA0 TDECRS” TRDG B0, DGO

Options :
Is printed in the beginning of the biological name.

L, TR0 THrdS H0060 ToBE D

It 1s written in an abbreviated form

TROH TArAS DDG IDDND ErHIG” ToDDBINR

#f,)

Refers to that the genus was first described by him.

L x DS DO gblete et

Printed in italics

4% 9trdS drHaeS” T

Question Number : 71 Question Id : 8135612151 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Hepato-pancreatic duct which open mto the duodenum has a swelling portion called ~ (A) .

the opening is guardedby  (B)

2g( Sk £ YA sodurodw §°08 s Fodiw & d G080 )

_(A)_ eotrth, &5 Go) 5580w &) Dod6d _ (B)_

Options :
(A)- Ampulla of Vater (B)- Sphuncter of oddi
_— (A)- es0ner e3D T0b (B)- 296 Do0e3
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(A)- Foramen of Iter (B)- Sphincter of Boyden
, % (A)- 20 Sodiaad (B)- 5°00&ED 205063
(A)- Foramen of Monroe (B)- Pyloric sphincter
3 % A S Gogha (B)- 2e88 205063

(A)- Ampulla of Bovden (B)- Sphuncter of Oddi
. (A)- oo & eraES  (B)- 26 Dodde3

Question Number : 72 Question Id : 8135612152 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Body cavity of arthropods is called

ugﬁ“c:“ EHwes® do 380860

Options :
Coelom
1 % $806855360

Pseudocoel
0T #6007 60

Haemocoel

658 G0
3. =

Gastrovascular cavity

4 % 260 D085 0o
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Question Number : 73 Question Id : 8135612153 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following has an open circulatory system?

SoRTrEed” Ddyeh BEHGED ;575;5%} £3AD 2aewn

Options :
Periplaneta

DBF I

Hirudinaria

TEOADBT

Pheretima

pelalaPob

Octopus

38’05
4.%

Question Number : 74 Question Id : 8135612154 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Pseudopodia 1s mainly seen in

QTR0 DERoIT DIS” SDDI0w?

Options :
Flat Worm

_— BIDAY) dorben
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Euglena

5 % AT

Amoeba

Paramecium
a2
4 % Geldaa0d0

Question Number : 75 Question Id : 8135612155 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The plant- amimal interaction often involve co-evolution of the mutualists so that
a) The mutually beneficial system could be safeguarded against ‘cheaters’
b) A given plant species can be pollinated only by its partner animal species and no other species

¢) The animal utilizes plant not only for oviposition but also to pollinate the plant

d) All of these.

ANE) - 20BN B0B0 HORD SOIP BIFIIAD VP Bddo MiP HBFArD) DA Gotron.

oL 0L

3) AR SR TR0C GEaM BPiHIE0D NP ddbo ED0IIDES0

b) £3) 2ws) @resed” Do oddLaw 8 P @eBIPLE AP RdDD T der

EEOOE B0
¢) 52y a0s0en 208 By MK HLLL) B HEFAT GO0rAroD eodstLor
Q0G0 Do Do A & Sree Feycaron
d) P wbﬂl
Options :
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da

b

d

Question Number : 76 Question Id : 8135612156 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
CDC Stands for

‘CDC & ArLotdAHE

Options :
Centre for Diabetic control

| % o6 D6 cairads Sotf'S

Centre for Disease Control

20886 D6 EHE SotS'S

Centre for Defense control

Dot D6 EDDY SotS’S

Nomne of these options are correct

D 2T DAL T
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Question Number : 77 Question Id : 8135612157 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the right organism and its phylum

20HT=e5° 2B D 2 (ED- Dotrodeh S5¢:50)

Options :
Ancvlostoma- Platyhelmenthis

Do8e5 - é‘é’iﬁ?i‘.ﬁéc@iﬁ

Nereis- Arthropoda
DBD- oF e

Chaetopleura- Aschehelminthes

%e’j".gytj- €5, TPVLOBD

Ophiura- Echinodermata

2DASrS- WBSECL L

Question Number : 78 Question Id : 8135612158 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Vestiges of girdles are found in

©53 e $HAaLD) &

Options :
Python

1« g odinend
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Krait

5 % SOD°EW

Cobra
5w DI

Rattle snake
ooeded fa;lé
W

Question Number : 79 Question Id : 8135612159 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Upright pyramid of numbers is absent in

::aoarﬁ 0aE DT SAH

Options:
Large tree
DG DHEDD

Lake
‘r’\:td‘ifaa;}

Forest
e9cia)

Grass Land

ezl
4.% €
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Question Number : 80 Question Id : 8135612160 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Trachea 1s lined with incomplete rings of

ABSD BRETE J0YETTD SVOIrL T0N TFeS” SV

Options :
Fibrous Cartilage

. Soddooindd ;ﬁJQCiJEJ"%&

Hyvaline Cartilage

SRS Qe
2.¥ ®

Calcified Cartilage

; ST D0yEoerD

Elastic Cartilage

RAFDD A0ETD
D @ [

4, %

Physics
Section Id : 81356146
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
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Group All Questions: Yes

Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135612161 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A linear object of length of 0.1 m 1s placed along the axis of a concave murror of focal length
0.1 m. so that its center lies at the center of curvature. The length of the image formed is

0.1m a“a:aéoe:&dm k) uceflaloN P VILEAY otaé 0.1 m T do g 3o
DAPD TR mqsiseﬁom;)_j (36t DST° S0 56 E0COVED Gotrdd. DRV IS,
DDA TED)

Options :
1 « 0.13m

2 % 0.17 m

4. % 0.2 m

Question Number : 82 Question Id : 8135612162 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

It R is the radius and A 1s the mass number. then log R vslog A graph will be

R ;:“521“3;313 Sodoiw A {.5_,;550"% R0y 900 log R dodw logd © Q6 0 L

Options:

1. %
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A straight line
2,8 RO¥ O

A parabola

5> % LorSeaidadh

An ellipse
3 % &g Sy

A Circle
4, ® 653,9_:?&11}

Question Number : 83 Question Id : 8135612163 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When the torque acting on a system 1s zero. which of the following remains constant?

2,8 ;55;5“%: 2 D B &), Brdjo wows, Sod 372" 2O ?gﬁﬂnmmomm?

Options :
linear momentum
| oD @BIDEI0
1. %

ElIlgll].ﬂl’ momentum

S v E'rdah @DEaw

linear impulse

5 % ODODH DFEDID
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linear velocity
BDohH Defad

Question Number : 84 Question Id : 8135612164 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A force of 20 N acts on a body and displaces it through 5 m along a direction inclined at 60°
to the direction of the force. Then. the work done is equal to

28 S0 P 20 N wwo D BURYE, & wwo B8 60° So BR0%) B3S" &8 S0 5m

g"égoém Dobol. & DEaHS’ 28R HA dot?

Options:

. » 507

, % 20017

5 x 50V3J

50
4.% V3

Question Number : 85 Question Id : 8135612165 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A train runs along an unbanked circular track of radins 30 m at a speed of 54 kmph . The

mass of the train is 10° kg . Then. find the angle of banking required to prevent wearing out
the rail.

2,8 D et (80 58 30 m :.1*’53‘3::33 1L STS6 Ardw Dot 54 kmph S 8
Seoi8) 6. Do §3(o°3 10° kg, S0k Ar6ne’ 3en aod Tes) P HEor
GoletPd3 WSROD (0 eadn

Options :

1
Tan™! (—)
1, % 2

4 Tan™ (1)

Question Number : 86 Question Id : 8135612166 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Time taken to uniformly heat up certain amount of water from 0 °C to 100 °C 15 30 mun.
It takes 160 min to convert the whole amount of water at 100 °C to steam at same rate of
heating. Then the latent heat of steam is

o G303 o IS VBT 3¢ 5008 0°C Aol 100 °C T3erdS 30 Avirew
D8R, &8 B 2 100 °C 38 DO Sr6\I8 e Gevd 3¢ Babrr 160
R0 HEVRY. oD, A eryn dng), MY Aok

Options :
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v 5333 cal.g7?!
> % 645.7 cal.g™?!
« 713 cal.gt

w 710 cal.g7*

Question Number : 87 Question Id : 8135612167 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The electrical circuit used to get smooth DC output from a rectifier circuit is called

2 3@5@ ;ﬁucm"i);l &O0IrAot) 35@5&65’3 S0k o mﬁi@ DC ngm AL

Options :
Oscillator
| » Eosdw

Filter

5 v P%0

Amplifier

_ D8s20
3. % @

Logic gates
4 % BC), (070
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Question Number : 88 Question Id : 8135612168 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For a projectile fired at an angle 6 with the horizontal. the maximum height is:

DATFeSGANE 0 S ST DVBD HEDEIN A0S, (8] B

Options :
directly proportional to 6
1 % 0 9 0 Arddrdo

directly proportional to sin® 8

5 @ sin? f £ 905’ Ardrdo

directly proportional to sin 6

- sin @ £ 985 Ao

directly proportional to cos 6
., €086 £ R0 AT do

Question Number : 89 Question Id : 8135612169 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Who discovered X-rays?

X-Sdm0e8) Qmﬁ":{umm
Options:

Chadwick

t::“cisé

1. %
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Roentgen

5> T ofd2sm

Madam Curie
DD E‘J"}Sﬁ
3_ W

J J Thomson

4 % 2.3 E";ﬁoﬁj&

Question Number : 90 Question Id : 8135612170 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 12 kg bomb. when exploded. gets divided i two parts whose masses are in the ratio 1 ¢ 3. If

the kinetic energy of smaller part 1s 216 J. the momentum of bigger part 1s kg.m.s™

12 kg 332 (0 28 ePow o0:143 @030 D (1R Toth) G 2T 008
‘3".1 Zrrio CO0S). B2 38 216 J wang, 26 @rtio A8, G0 kg.m.s™!
Options :

1.v 306

o % 72

5 = 108

Data insufficient

GTP0R0L) 9R0ITE00
4. % 2
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Question Number : 91 Question Id : 8135612171 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

During adiabatic expansion of 2 moles of a gas. the change in internal energy was found to be
equal to 100 J. The work done during the process will be equal to

2 26 © ToiNY) ?gﬁf'gs a‘*ﬁ.‘:o DoAY T BoBESIES'D 6oy 100 Fewwsd
RATH0. 900N Jdoth DA 20Mb?

Options :
Zero

) %\J“ééo
1. %

, % 2007
3 % —10017

4 v 1007

Question Number : 92 Question Id : 8135612172 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A man is carrying a block of certain material (density 1000 kg.m™>) weighing 1 kg in his
left hand and a bucket full of water. weighing 10 kg. in his right hand. He drops the block in
the bucket. How much load does he carry in hus right hand now?

w8 33 1kg pbo (0 28 G2, [Fodd 1000 kg.m™] JeanBaS’2, 10 kg grdo
o NOE Dodd Li5R0R S BAG'E ArROT) 0. LR & B0 LY ST,
TR &8 IE S G B Qod GrTmD) AT 7

Options :
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» 10kg
e 11kg

« 12 kg

Question Number : 93 Question Id : 8135612173 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The back e.m. f. induced i a coil. when current changes from 1 A to 0 4 i 1 milli-second
i 4 V. The self-inductance of the coil 1s

28 & c:o%jaeﬁ‘ Dd)}gé Rerrdw 1 é’lbg} 2806 1 4 00d 04 0 2830 20 Dd:zgwgus
Q00 4 1V ©0R), & thi) (0o OSSN dodd?

Options :
1 % 1.H

o % 4H

,x 107%H

4 v AX107°H

Question Number : 94 Question Id : 8135612174 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

In stable nuclei the number of Protons (Z) and number of Neutrons (N) are related as
28 fgdmwé Sogsnd’ JTersu(Z) Sxbodn AP (N) )65 Rotodaw
Options :

1« N=Z

2. % N<Z

3.‘\?/1”:2

LxN=2=0

Question Number : 95 Question Id : 8135612175 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Four condensers each of capacitance 4 nF are connected as shown in the adjoining figure. If
V, — Vo = 15V, the energy stored in the system is

41F flo oo 33Hugdy $DDY Svaird) Hes’ drdnded. V, — Vo = 15V
2003, & éﬁ;ﬁfge_ﬁ‘ dod 38 D Babede?

4nF

4nF 4nF

i

4nF

Options :

1w 24 erg
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> 1.8 erg

3 x 3.6 erg

4 % 54 erg

Question Number : 96 Question Id : 8135612176 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A progressive wave of frequency 100 Hz travels towards a rigid wall and 1s reflected by the
wall. The two waves superpose to form a stationary wave. It 1s found that a node 1s formed at
a distance of 1.6 m from the wall. The velocity of either the progressive or reflected wave 1

100 Hz 3330 o 8 2pBrrRodbotio 26 26 Hie 22 dosredod, Heed 73680
Dofottidod. & Dot SO0 8 D B0 D6BY), ek Mo0d 1.6m Erded” us
e570y06%) Do) Dydo. w0 BT Tar HT36 Boft Do Jod?

Options :
1. % 200 m.s~ !

5 % 160 m.s™t

3 % 80 m.s7!

4. 320 m.s~ !

Question Number : 97 Question Id : 8135612177 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If ‘E” and *B" be the electric and magnetic fields of EM. waves, then the direction of
propagation of E.M. wave is along the direction of

25 35&)56301)5"&093 BGofiod 3@5@ boblelob bV @Cd)ﬂ“&o@ ST SR ‘E7 B0sw ‘B’
9Q0R) :Jméduﬁﬁ“boé Bofio DITold BF Q B3 Gotod.

Options:
E-vector
1, 23 E'Fﬁ&-%

B-vector

, « B-06%

E x B -vector
3 E x B -R&3%

B x E -vector
4 % B x E -2&%

Question Number : 98 Question Id : 8135612178 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Starting from a point on circumference of a circle of radis ‘r’. a person moves to a point
which is diametrically opposite its mitial position. The distance travelled and displacement
are respectively

w8 S T F}Sﬁ“gc (0 338 208 Q06 28 DocdY) Mot LODUVBS, &8 S8 HBA Kok
&5 DotaSy T[0T S{B32 Doty HE) HALTEIWT, & H[S HATEIoD Grdo

SoBadw g“égo?vm GIV) N
Options :
1 % 2mr, 0
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5 @ T, 2r
3 % ol BfEr
4 % 2T, 7T

Question Number : 99 Question Id : 8135612179 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The magnetic potential at any pomt on the equator of the dipole 1s equal to

8 B0 A, Scsuedab Sup DB Dotod) 3¢ Lab) o8 TOJoES BIS vrs0?

Options:
1.¢ 0

Question Number : 100 Question Id : 8135612180 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A source of e.m. f. E = 15V and having negligible internal resistance is connected to a
variable resistance so that the current in the circuit mcreases with timeasi = 1.2t + 3.

Then. the total charge that will flow in the furst 5 sec will be

ﬁmsw‘)us awaw (e.m.f.) E =15V So8osw woa&lﬁfqﬁm abécﬁeagnél w8
23620030 28 0o DFESAN &R HVADAVE FLODAEIYYE DS DT IPEA,
500 (1) § i = 1.2t + 3, A 90000t0Er D0MHIE. Lo, &8 Secboes 206E 5

DEVS” DD AVSA DA D

Options :
1.% 10C

> % 20C
3¢ 30C

4% 40C

Question Number : 101 Question Id : 8135612181 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The torque necessary to produce an angular acceleration of 25 rad.s ™2 in a flywheel of mass
50 kg and radivs of gyration 50 cm about its axis 1s

50 kg @(0°3, g6 5“55“8" 50 cm (10 28 BAFVE B8 Lo AT 25 rad. s Edad

LN TS dodh £PG), BHVGW?

Options :
1 % 312.5 dyne.cm

> % 31.25 N.m
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3 % 31.25 dyne.cm

4 3125 N.m

Question Number : 102 Question Id : 8135612182 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two cylinders A and B fitted with pistons contain equal amounts of an 1deal diatomic gas at

300 K . The piston of A 1s free to move. The piston of B is held fixed. The same amount of

heat 15 given to the gas i each cylinder. If the rise in temperature of the gas in 4 1s 30 K then

the rise in temperature of the gas m B 1

200083000 HA ot ;mavsvﬁ Fdoss 300 K S5 A7 DOSFRAD (0 BEOATES
T30 0B, AVAVSAN A AT SERVD. ARSI B f'é}ciorv Dotrdd. Botdd ‘:{%}Pﬁ“v
&' o TaH0PHD VAR DBATRAN () &) obotrdd. 4 & ot &dd 30 K 280
B & arasn &gdeﬁeﬁs DG doeh?

Options :
1 % 30K

, % 18K
5 % 50K

4w 42K

Question Number : 103 Question Id : 8135612183 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The given figure shows the electric lines of force emerging from a charged body. If the electric
fields at A and B are E, and Eg respectively and if the displacement between A and B is 1. then:

28 65338 310390t DS LT IS AT DHhed’ Wrdwtod. A LB

B & e ek Sgren SR E, 8ot Ep. A 200050 B © S0t ot 1, w000

)

==
L 4
o
oo™

Options :
1@ Ba 2 Ep
5 % Ern < Eg
E
3. % ¥
Ep
L x BAT

Question Number : 104 Question Id : 8135612184 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A square slab of side 0.5 m and thickness 0.1 m is subjected to a shearing force of 9 X 10* N
with the lower edge riveted to the floor. If the shear modulus of the matenal of the slab 1s
5.6 X 10° N.m ™ find the shearing strain.

0.5 m Zhawan JTe, 0.1m o (o) 28 HSBTTE Do $ob Bt Zrabd Do),
AR 9 X 104 N J2red eve 0030emed. HUE btﬁ“gm) Gyt (0san 5.6 X 10? N.m™
008, DTN 58 Jod?

Options :
1 % 23% 1072

5 % 27 x107°

L % 39x107°

4 v 64%x107°

Question Number : 105 Question Id : 8135612185 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What should the angular speed of earth be, for a body lying on the equator to feel weightlessness?
(g=10m.s™*,R = 6400 km)

28 S0P EPDEBD 55 76 6P P8 AR TosedS g aiog), Eeba 9
dodb &otd? (z= 10m.s2 R = 6400 km)
Options :

1

— g
| v 800

1
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—ad. 5"
, % 400

— rad.s™ !
L » 600

—rad.s
4 % 100

Question Number : 106 Question Id : 8135612186 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The electric potential at a distance of 10 m from a point charge of 25 uC is
25 1UC e w8 Dodd BD%o Aol 10 m © ErGeds” DANS TEI0S Jo?
Options :

1 % 2500V

5 « 22500V

3 % 2000V

4 % 20500V

Question Number : 107 Question Id : 8135612187 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A single—slit diffraction pattern is obtained using a beam of red light. What happens if the
red light is replaced by blue light?
28 6D 508 &HATAoD) wo)-DDE DIGH by 6,808, G S0 R Hoo
508 GOATHoRDE,
Options :

There 1s no change in the diffraction pattern
- HFelety :::ege_‘i" e S0t , AT Ey GOt

Diftfraction fringes become narrower and crowded together
- DHED DB GBI GotdT (DD EotTaw

Diffraction fringes become broader and farther apart
- DBEH DL DELOYT &0l GIGOTT Eobtr o

Diftraction pattern disappear

. DDGD HE) SIS

Question Number : 108 Question Id : 8135612188 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

p |

Using P — V diagram for an ideal gas, find the work
done by the gas in process ABCD. é r
310 N
WS 500 T s, P -V HRANYG" Brad Po |.... ; s
ABCD H6208° & ofnd) B399 59 L g
Vo 2 3
Options :
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4P,V
2P,V,
» 3PV

4 % PoVo

Question Number : 109 Question Id : 8135612189 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The distance of the centres of moon and earth 1s D. The mass of earth 1s 81 tunes the mass of
the moon. At what distance from the centre of the earth. the gravitational force will be zero

WoGIE, Hrad Solre) mc,‘ag Grdaw D. #ra ;;’;;5?55“% RLTAVN] Q.::]SU“% 81 otw AV
So@an Aot dod Ardand’ mmejgmvma «waﬁm 8990067
Options :

D
1, % 2

9D

4. 10
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Question Number : 110 Question Id : 8135612190 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A moving body of mass m and velocity 3 kmph collides with a body at rest of mass 2m and
sticks to it. Now the combined mass starts to move with speed of.

m @3(0°3 3 kmph Sffo i 28 S0 o™ &) 2m GHO°2 (i 28’ SrY &gd
@A wotnE AT owod. Y\ & GT-d0v Si5% Do SES gcvenduod?
Options :

1« 1 kmph

5 % 2 kmph

3 % 3 kmph

4 % 4 kmph

Question Number : 111 Question Id : 8135612191 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The power dissipated by a resistor of resistance R, carrying a sinusoidal AC current of peak
value [, is

R D80 o B sans” 306 Devd I, o a8 poTons AC DS DILFH D@

&5 DB oA Ny mcﬁséuismoiwé ﬁ“mgé;m =

Options :

- IER cos
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Question Number : 112 Question Id : 8135612192 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the error i the measurement of radius of a sphere is 2%. then the error in determining the
volume of the sphere will be

Ao mﬁ&g;:m Eod0085” S50 2% Land, vl S5H8arHe Sudtess 8180 Jo?

Options :
1.% 4%

5 « 6%
3 % 8%

4% 2%

Question Number : 113 Question Id : 8135612193 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Three long. straight and parallel wires carrying currents are arranged as shown in figure. The
force experienced by 10 cm length of wire Q 1s

PG B0 HAFoSEAT &) 3 Biew HLZVE’ Ard APBBIT BB\,
10 cm Ty fo 0 8 929280 LA

RT Q‘L: PT

e 20N = % 10em

20A 10A 30A

Options :
1.4 x 10™*N towards the right
1 v L4 X107*N ¢ 298

1.4 x 10™*N towards the left
5, % 14 X 107N e ipd

2.6 X 107*N to the right

3 % 2.6 X 107*N sé DS

2.6 X 107*N to the left
4 % 2.6 X 104N decao s

Question Number : 114 Question Id : 8135612194 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A man sitting in a train in motion 1s facing the engine. He tosses a con-up; the coin falls
behind him. The train is:

SRR DN’ 2,8 98 RoRA BAAVPoTT EPED 2.6 THI) PE AEIVD 0B

9 DIV Do, WO €5 Tew

Options :
Moving forward with acceleration

ejﬁdf:aag B00EIL SEOBODY B
1.¢

Moving forward with uniform speed

- PNIEE Ao SEOVBOD) &

Moving backward with deceleration

- mme:gsdmﬁ DAL SERDAIDY B

Moving backward with uniform speed

4 x PDIEE DD S0 B

Question Number : 115 Question Id : 8135612195 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the current m a coil changes from 4 Ato8 Am 0.1s.ane.m.f.of 16 V 1s induced in
it. Then find the coefficient of self-induction of the coil.

w8 megeﬁﬁ Dmﬁ QTN 4 A ol 84 £ 0.1 5 hdoahang” 2y Doty

16 V 08¢ Dmmus AT fbd‘)dé&. o, & ok oo DESE

Options :
1% 0.2H
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5 % 0.35H

;v 04H

4 % 048 H

Question Number : 116 Question Id : 8135612196 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

With the addition of impurities. the surface tension of a liquid

SOTOR Se0iNL JHOD GSDIW @&Jejrﬁsé

Options :
Liicreases
5 =220

Decreases
e:équbm

Remains constant
3 % ST

May increase or decrease depending on the impurity
20977y w8 Do o S

Question Number : 117 Question Id : 8135612197 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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When a metal surface is illuminated by a monochromatic radiation of wavelength A, the stopping
potential required is 3V If the same surface 1s illummated with a light of wavelength 24. the

stopping potential reduces to V. The threshold wavelength for this metal surface 1

&'irdurd) Sdonipdaw 1 o DeS Disnsnd Hivwn B 30 M

006 3V. 008 &'irder) S6orBi0 21 o S0 Hksw B3 e FoJaos

Ve ejﬁé)&. 200, ¢ 8P $VAY Bed @doﬁgglﬁm

Options :
1,% 84

2 % 64

3.v 44

4
— A
3

Question Number : 118 Question Id : 8135612198 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In Newton's cooling experiment. the water equivalent of two similar calorimeters 15 10 g each,
They are filled with 350 g of water and 300 g of a liquid (equal volumes) separately. The times
taken by water and the liquid to cool from 70°C to 60°C are 3 min and 95 sec respectively, Then.
find the specific heat of the liquid.

SUON 9890 patrawe’ 10 g E208r0Q8 Borjosiw $BAY Do 56 Qowge”
36 350 g A8 0Bt 300 g G BruST)E. (Gochotd VLT
PR30 70°C &0 60°C £ 8D86m0 Batonrd N8 3 Adwaren Sobako G 95
5000 9IG00V). 900N, & (A0 aiog) maﬁﬁl@ Joth)

Options :
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| % 03 cal.g7t.°Cc™?

5 % a8 calig e

5 v 0.6 cal. g71.°oCc™1

4 % 08 cal.g7l.°c™?

Question Number : 119 Question Id : 8135612199 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two charges, 10 puC and 50 pC are placed 4 m apart at points A and B respectively. The
force exerted on a 15 pC charge placed at point ‘P°. midway on the line joining them i

4 m GroA0e” &:'\‘Jl A 200050 B 899 Dotv ;5-:2 SR 10 pC 0bBado 50 pl deo
Ooth) 5370/ Gotrth. A 20Bakw B 0y €80 B2 odk| Argod” ‘P’ 3¢ 15 1C ed7)
&0, T es HAS LA

Options :
1.35 N along PA

1 ¢ 1.35N,PA 2

2.35 N along PA

, « 235N, PADD

3.35 N along PA
3 % 3.35 N,PA 2
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1.35 N along PB
1.35 N,PB 2

Question Number : 120 Question Id : 8135612200 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Range of a particle projected with an initial velocity u = 20v2 m.s ™% at § = 45°is

28 SR0)A 0 = 45° Eeod u = 2072 m. 571 O Irod Héo BB, & S0

A, VTS0 T dodd?
Options :
1 % 110 m
) % 25m
3 % 22 m
4. 80m

Chemistry
Section Id : 81356147
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
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Group All Questions: Yes

Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135612201 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the frequency of the violet light. (given & = 400 nm)

€3t Coll) Shod EﬁJJSG il"é:‘f‘.g_‘)r‘ézso fiedotdote ( 2. = 400 nm ™ '&'b&t&ﬁé&:]

Options :

1014
1_\_},?.5 x 10 Hz

, 45 X107 Hz

, % 45 X107 Hz

4 % 7-5 X107'% Hz

Question Number : 122 Question Id : 8135612202 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the change in enthalpy for the reaction 2H,0, = 2H,0 gy + 05 (). Given. the

heats of formation of H,0 ;) and H,0, ;) are 188 kJ. mol™* and —286 kJ.mol ™! respectively.
2H202 U) !_—‘ 2H2‘OU) + 02 (g) lﬁd?gé& QDGP&D bJ“dJ:]rﬁJ ﬁﬁOﬂde HzO{;) &ﬁJﬁOﬁD HzOz {I)

© D03 &0 Denden Hdvrr —188 kl.mol ™t Aodadxn —286 kJ.mol™ R
Options:

|« —196 kl.mol™
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5 « —948 kl.mol™

2 , i
3 ¥ +196 kJ.mol

4 % +948 kJ.mol™ L

Question Number : 123 Question Id : 8135612203 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Terylene is manufactured by heating a mixture of ethylene glycol and terephthalic acid in the
presence of which of the following?

2893 75°0 Bat B8 De 90 Dges” D B ‘060D D FoTE
63\0 BT 0.

Options :

_— Zn(0Ac),/Fe, 05

9 % ZﬂCEE)XSbEOEr

3 @ Zn(0Ac),/Sh,04

4. % Zﬂ(gz‘quzl)i!q!zgg

Question Number : 124 Question Id : 8135612204 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Insulin 1s used for the treatment of

@@355 D §6L TcoTdd

Options :
Lung cancer
S elelelx MR NG
H —

Diabetes
ablnbiubie :.F?S&}
w

Anemia
, 08 S

Blood cancer
g8 E"é;)ﬁ
x 22

Question Number : 125 Question Id : 8135612205 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The quantum number which determines size of the orbital 1s

u&awﬁ 20ATEFY i)gcmaé S°(oto Doy 67

Options :
Principal Quantum Number

- LT (oo “naoa.‘.r?g

Azmmuthal Quantum Number

- D saa0ehed S‘SGEJ:: ‘r‘ooaa?g
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Magnetic Quantum Numnber

- waﬁ:&boé S"oto Rosdy

Spin Quantum Number

. 5335 S™(oblo ‘530&3?5

Question Number : 126 Question Id : 8135612206 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the co-ordination number of F~ in BaF,. if co-ordination number of Ba ™2 is 87

BaF, & Ba™? ding) 2&:q0H 2o 8 eo0d. F~ 20A(a o8 Jod?

Options :

1.9 4

Question Number : 127 Question Id : 8135612207 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The order of ease with which the following hydrocarbons react with metallic sodium,
liberating hydrogen. 1s

Téioto §irod dob & 70y e56 TocRY FEBD DLwSE Fuzo BT dorr
380y 800

@ CH=CcH

(i) CH=C-CH,

(i) CH;—C=C-—CH,
(v) CH=C-CH,—CH,

Options :
1% (iv) = (i) = (i) = @4)

, o @ > G > @) > (i)
L o > G) > i) > (v)

4% (iii) > (v) > () = (1)

Question Number : 128 Question Id : 8135612208 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The type of hybridization in B, Hy 1s

B,H, &5° (50 20g6mns0 DA?

Options :
1. % SP

2
2. % P
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Question Number : 129 Question Id : 8135612209 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

500 ml of gas A at 800 torr pressure and 1000 ml of gas B at 600 torr pressure are placed

ina 2 L vessel. Calculate the total pressure of the gas mixture in the vessel?

800 torr(&r6) HeEdAN o 500 ml © ‘A’ ek 2805 600 torr eSS0 (o
1000 m! © ‘B’ Todndywid 28 2L g6 sourr, e Fde” Taindizdie HEdoe Jod?

Options :
1 % 0.5 atm
1.0 atm

3 % 0.1 atm

W 0.6 atm

Question Number : 130 Question Id : 8135612210 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Rosaniline and malachite green belong to

F200D 20b0sn Arese A & BocA

Options :
Triphenyl methane dyes

63 28 B Gorbren
1.9 ==

Anthraquinone dyes

5083(SS Gorhd

Phthalein dyes
=0 Goriyen

Azo dyes

4 % ©F Corben

Question Number : 131 Question Id : 8135612211 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Brass and Bronze are respectively composed of (Choose the correct option)

20 900JD oS rﬁoijéc&.. PE 2080k Sothy ST A £dA Eé‘l&'}?

Options :
1 % Cu&Sn, Cu&Cr

5> Cu&&zZn, Cu&sSn

3 % Cu&in, Zn & Sn
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4w Cu&Zn, ZIn&Cr

Question Number : 132 Question Id : 8135612212 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Crystallization 1s used for which of the following?

RGN £ &HATATD

Options :
Separating solutions with different boiling points as vapours

DDD) Py BOD FTW (0TI T SIBT S BoLL

1. %

Separating solids with different melting points

DY) BDESe &L Boe0 (0 DTVR DEBALELD
2. %

Separating salt from a solution. in its crvstal form

3563000 AL VDLV TR NS BorHa0es” D Dot
3. g

Separating different gases from their mixture

. DBE TNV T°E) QDBVo Ao) DA VOIS

Question Number : 133 Question Id : 8135612213 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In the following questions a statement of Assertion (A) followed by a statement of reason (R)
is given. Choose the cortect option out of the choices given below each question.

Assertion (A): Generally. 1onization enthalpy increases from left to right in a period.

Reason (R): When successive electrons are added to the orbitals i the same principal
quantum level, the shielding effect of inner core of electrons does not mcrease very much to
compensate for the increased attraction of the electron to the nucleus.

& Sobd Qéﬁvéﬁ cﬁabsm £ R3S (A) e BB (R) 9 s°6to fabsmdm.
FB o0 A A RIOERD T8 o) Joors ao:béod

B)0568 (A): FTOEa3T SAHL6E Jorrdy BANE 6 e 0ol §26 PYHE AR

@
aﬁg":g DO0LS DrHA0 Solds e3506R0 6{(13‘1} B SRS 26

R (R): 28 5 38 Fows u&aw%né‘b SERT JTTE DI Bodd 5&566

Options :
Assertion 1s correct statement and reason i1s wrong statement.

. ByNS0E2 O ANDE 2BALD STGEs0 L)y

Assertion and reason both are correct statements and reason 1s correct explanation of assertion
, o $)060m 258012 Sizo ot POBALRA 20dak 6o BIEGHL 1B Lo DBLHnD

Assertion and reason both are wrong statements.
- GyDSG6E B3 TG0 TolT 1B BONIA 5°)

Assertion 1s wrong statement and reason 1s correct statement,

4 % cﬁ;,ﬁ)SGm By RODR0 BOIT° STELIAW A0 ONR DOV

Question Number : 134 Question Id : 8135612214 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Two moles of compound (A) on treatment with a strong base gives two compounds (B) and
(C). The compound (B) on dehydrogenation with Cu gives (A) while acidification of (C) gives

a carboxylic acid (D) having empirical formula CH,0,. Identify (A) and (D).

Dot Arenw (A) o HR#0a0 48 wOMR TosE 6] Tobdiy@ (B) baty (C)
0,90 D6\AD. (B) pA¥TR) Cu & &-pEadson adim 967 (A) 26,648, (C)
as), e.eﬁ'g;sw :3@:556‘ CH,0, od0rds 3‘6)&0" (e (D) & sﬂwaébﬁ)s“mb.u 0GB,
DBS* (A) 28080 (D) w0 MBotsed

Options:
1_¢HCHD & HCOOH

, « HCHO & C,Hs0H
, » CH;CHO & HCOOH

, » CH;CHO & CH;COCH;

Question Number : 135 Question Id : 8135612215 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1s not amphoteric?

S0 Tredes” BGRETD v SO DA?
Options :

1 % GEDE

, « PO,
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Question Number : 136 Question Id : 8135612216 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An element has electronic configuration 2,8, 10, 2. The total number of electrons in each

subshell 1s given as (from the complete electronic configuration)

28 Jurego VT JT§e 2,8,10,2 ™ o), 1O &:Jgfomﬁ"m &Q) Ado JUFTOV
Roa (2378 dogd Da“ﬁé“f!)l 0))

Options :
=6 pg=12.d=%F=8

= =10 d=2F=2
3'\/3:8,;9212,&’.:2,}“2{1

g§=K p=12..d =2 . F =2

Question Number : 137 Question Id : 8135612217 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The products formed when phosphine is dissolved i water in the presence of light is

508 DES” FD D AOS 6H0DS V6\E & yT
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Options :
H5PO, is formed

H3PO5 1s formed
H3P 03 D636

Hypo phosphorus acid is formed

S NG #3500 D6
3. % - =

Red phosphorus and hydrogen 1s formed

4w DO TG0 Lobatn TERD D6yER

Question Number : 138 Question Id : 8135612218 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements is incorrect?

a) The iron obtained from blast furnace is known as pig iron
b) Cast iron is made by melting pig iron with scrap iron and coke
¢) Wrought iron s prepared from pig iron by oxidizing impurities in a reverberatory furnace

d) Stamless steel is an iron alloy

408 3" DB dadw T ?

2) & SO Aoodk BaIrdd HORG (F) FRVA
b) et R koD dogy, 2000k §§ & Audiw BRR\E T'e Biw SairdHdied

) BR800 (38:56%) EBDS’ o) moAnE'D HBTOL 6 gomdn § 36 A2
S037) B

0) DD B3 28 28 D WIS ran

Options :

1.% @

2 % b

Question Number : 139 Question Id : 8135612219 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The elements belonging to bd series of transition elements are —

36BT°2¢5° DBIGD Aresed” 5d F638 BodIDD?

Options :
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Y to Cd
Y &oew) Cd

Lato Hg

, v La Ao Hg

Ac to Cn
3 % Ac &oc. Cn

La to Lu
 La &ed Lu
4, %

Question Number : 140 Question Id : 8135612220 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The sum of atomic masses of the atoms present in a molecule 1s called

208 e9ga)es” ER)) DOITEDYHV Q;ﬁsﬂ"mu amg“ﬁi £908T°C)

Options :
Mass number

Q;ﬁéc"%‘ SEEM

Atomic number

DESTEL ::oa’%
2. %

Molecular mass

e9gad Q:réc“%‘
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Formula mass
Ty BIO°3

Question Number : 141 Question Id : 8135612221 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the correct statement regarding the reaction Zn + 2HCl — ZnCl, + H,

Zn + 2HCI — ZnCl, + Hy. & $6{% RdowoBod 6 ©0nd Hodsm D67

Options:
Zinc is acting as an oxidant
208 538663 DA Batoo

Chlorine is acting as a reductant
£83 L0866 HABoIVH

Hydrogen ion is acting as a catalyst
TERD 903 &GS DB

Zinc 1s acting as a reductant
208 L0088 DAV

Question Number : 142 Question Id : 8135612222 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following compounds is used for water softening?

DB 20yB0e] DAL BID TETE?
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Options :

1.+ NagPgs0;g

, x NasPO,

3 % Caz(P0,)

4 « NaxHPO,

Question Number : 143 Question Id : 8135612223 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

[dentify the rate expression which obeys the condition: the percentage of reaction rate
increases when the concentration of reactant is doubled?

SaRALAN TFESR 8862 BB £36] Gew Tdaw HONLAD &) Gt mb:s«:i-s'a":)l

306 PEGTVS’ HBotsold
Options :
—= 3f2
, « T=KI[A] /
, ¢ T= K[A]?
3% T= K[A]°
A% T= K[A]
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Question Number : 144 Question Id : 8135612224 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the following reactions to the type of reaction

Sof O[O0 o8 0y DTS 2 mboa

Reaction Type of reaction
cﬁdﬁ I:Sd;j JoEddm
a)
O\Aﬁq ale. KOH ) Snl
———
wer) 785 KOH
b)
CH:
ii) £
Br OH- /H,0
—
c)
GH{EQ. iii) Syl
G'Hra,,_,}
d)
iv)
NO2
NaOH (ag), 368K : 4 e
i S Aromatic electrophilic substitution
) H o085 JTEHHS AL
v)
Aromatic nucleophilic substitution
e i5 Ardabarnds pagon
Options :

e (a—iii); (b—=1); (c—ii); (d—v)

(a—i); (b—1i); (c—il); (d—1iv)
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3 ¥ (a—ii); (b—ili); (c—=i); (d—V)

4 % (a—ii); (b—i) (c—iii); (d—v)

Question Number : 145 Question Id : 8135612225 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the mass of 0.5 mole of ozone molecules?

0.5 2revw LE D et G5] 72 Dodd?

Options :

1. % 8g

5 % l6 g

Question Number : 146 Question Id : 8135612226 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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CsBr has BCC-structure with edge-length 4.3 pm. The shortest inferionic distance between

Cs* and Br™ is

CsBr 4.3 pm @0tk TePS BCC-Ioytasdnd $DA &od. Cs™ 900080 Br™ © 365] 03
350, 9080 BAIFAS EP6A0 Jod?

Options:
1.« 3.72

, » 1.86
3 % 7.44

4 % 43

Question Number : 147 Question Id : 8135612227 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The covalent character of lithium halides varies in the order

DBaie SFOEL DBCFRBACH DEHHW S8 S0

Options:
1 % LiF > Li€l > LiBr = Lil
) ® LiF & Ll = Lil &= LiBy

3 % LiCl > LiBr > LiF > Lil

4 Lil > LiBr > LiCl > LiF

AP EAMCET 2020



AP EAMCET 2020

Question Number : 148 Question Id : 8135612228 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the equilibrium. 50, 5y + Y 0 (g) = S03 4y setup in a cylinder fitted with a piston. an

mert gas 1s added and the piston 1s moved outwards to keep the total gaseous pressuze constant.
Which of the following situations may occur?

o e — 1 oy " 8,
S0RVSA (10 g}vaoﬁ 50,0, ToWPRR &ot), S0, (g) +—02(5) = 503 ) RTG
26,006, Boe” acTan) DIIE Hudws) oh 20 ?gdo 7. & b&?gmvé"
308 S’ B bﬁ?g@ ‘DCSJC‘;JKD?

Options :
Addition of inert gas does not affect equilibrium
1 % VETAIDA SO mmwfgﬁg 2eT00 WIPDD.

Less 503 (4 is produced

L S03(g) TOWD 33 B

More §03 (4 1s produced

L o 503 (g) TN €338 DAL

The system attains a new equilibrium position

;55;5}’0 Ed HDATDA TFodo
4. % o ®

Question Number : 149 Question Id : 8135612229 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Buffer solutions have constant pH values because

D6 AT %‘.}md pH Denden $OA ottt 52060

Options :
They have large excess of HY or OH ™ ions

| x TOS HT St OH™ 00550 od@$a0m Gotra.

They have fixed value of pH. pH of the buffer changes with dilution
_ TO8 26 pH Deosd &otiod. w8 cne), pH Dend DDBA0E AT

2.
These give uniomzed acid or base on reaction with added acid or alkal
WO BapA0 T TOADES® oHALCHR BoGD 255000 S5 B0DASEEIN Do)
O 3656‘.3.{0

3.¢

Acids and alkalis 1 these solutions are shielded from attack by other 1ons

4w DB (e e HBO FE DADH LoirHuS TES BT LT SFE e

Question Number : 150 Question Id : 8135612230 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In both DNA and RNA heterocyclic base and phosphate ester linkages are at

DNA, RNA &0 olot)e® Dardusdad Tdo 208050 &bbei A6V ofre) 3 306 GotaR0?

Options:
C:' and C,' respectively of the sugar molecule
I !
| % ©WS),0 er) ains) (5’ 20dain (;
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C,' and C.' respectively of the sugar molecule
w86 e dwe) G, and (S

C;' and €' respectively of the sugar molecule

3 ¢ )6 ey dwe) €' and (s’

Cs' and C,' respectively of the sugar molecule
I T
4% 8,0 een) sy s and C;

Question Number : 151 Question Id : 8135612231 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which of the following conditions. the overlap of orbitals is zero?

& SoBT°e)e5" B3e5° €58 e, (Dl Fs il Totb) Bord(00?

Options :
X R X =D

1 % (P2) (p)

5> % (pz) (s)

3.v
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()
(pe)

(py) . (P)

Question Number : 152 Question Id : 8135612232 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a 2nd order reaction. rate at a particular fime is x. If the initial concentration 1 tripled the
rate will become

28 B8O 708 B[S 28 ROHE" B v, SAITRITO MESRD Qe B6w B9
&5 20§ den 2900

Options:

13331:

2@,,91:

27x

4 % ldx
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Question Number : 153 Question Id : 8135612233 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Which of the following statements is incorrect?

a) 05 1s an allotrope of oxygen
b) 05 is pale blue gas.
c) 05 protects us from IR rays of sun.

d) Ozone depletion 1s due to CFCs.

S0HT 5" HIABT S DE LB 5G0?

a) 03 88 \BD ding), Graredsin

b) 0; S DD Sord> TrasvD)

c) 03 203 oEB WrdxD IR S6rTeued) 2ot
d) CFC & H05 0; DAFmIS 50 e9:cood

Options :

1.% @

Question Number : 154 Question Id : 8135612234 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Which of the following aqueous solutions will have the highest boiling point?

& 808 IS D 20 TOEwIS VRS WM gv;b;m{e,r?:be;m ) Gotood?

Options :
1 % 1.0M NaOH

., 1.O0M NH,NO;

. » 1.0M Na,50,

4 % LOM KNO;

Question Number : 155 Question Id : 8135612235 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a covalent solid. the units which occupy lattice points are

28 RBATFRACD 20D DEGodS” 2rwg DotV BEoBD DD?

Options :
Molecules

1 o VEVYW

Atoms

5 % DEDTPEDNHLD

Electrons

DSTAD
3. % 27
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lons
wn:irrj\;u

Question Number : 156 Question Id : 8135612236 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Among the following. which statement is incorrect regarding mole fraction (x)?

2078 o (x) S Potlodow) $oHT VS’ DA WO 5°E1?

Options:

1.2 x=0
5w x <1

3 0=x=1

4.\_1,—21333:1332

Question Number : 157 Question Id : 8135612237 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 1s not an example for homogeneous catalysis?

S08 TS DFA0D &GN EIFITON S5TU6 AH?

Options :
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Formation of SO; in the chamber process

ot DAV’ 503 Dycow

Formation of SO5 in contact process

- *RJ:}U“‘; ﬁg@ﬁﬁ 504 hdgc:aea

Hydrolysis of ester in the presence of an acid

€350 VL0 IVE 2O DI

Preparation of diethyl ether from ethyl alcohol using conc. H,50,

™6~ B3 e300 DL £iDE e30) e G S0 SO0 Sairdidoiug
ey B8 eay & &BO s Fen & S35 &G &

Question Number : 158 Question Id : 8135612238 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Aniline 1s separated from aniline water mixture by

D393 Hik Mg 200D ADDD A D BoiweL TE HEH DA?

Options :
Sublimation

| E3B00

Solvent extraction

5 % gradedes” Dy, Ce

Fractional distillation
LS e90E SNALEIY
3, #
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Steam distillation

20ET00, LGRS0

Question Number : 159 Question Id : 8135612239 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A mixture of acetaldehyde and acetophenone can be separated by using

Dotrdard 20000 JEDSD © Do Aok 20 003 fod) T8 3 Babaiidy.

Options :
1. % NaOH

, « NaOH +1,

3 % 2.4-DNP reagent

4 » NaHSO;

Question Number : 160 Question Id : 8135612240 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s not a favourable condition for physical adsorption?
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High pressure
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Negative AH
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High critical temp. of adsorption
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